Acctg 7101X                     Management Accounting                       Professor R. Widman


1) Refer to the graph attached.

Use the following list of concepts in answering each question.

(1) Variable expense

(2) Fixed expense

(3) Revenue

(4) Contribution margin per unit

(5) Margin of Safety

(6) Breakeven sales in units

(7) None of the above

For each of the following segments on the graph, identify the concept from the list above that corresponds to the line segment.

(a) 0A

(b) IG

(c) 0D

(d) B0

(e) HE – DC

(f) B0 / OD

(g) HF + HG

2) Refer to the graph attached.

Answer each of the following as “TRUE” or “FALSE.”

(a) If revenue is CD, the margin of safety is zero.

(b) If revenue is HE, then the margin of safety is GE.

(c) Total profit could never be larger than total expense.

(d) If selling price is increased, breakeven units would increase.

(e) If selling price is increased, HF would increase.

(f) FE = HG

3) What effect could the following changes, occurring independently have on:

A) the breakeven point
B) the contribution margin

C) the expected profit

· An increase in fixed costs

· A decrease in wage rates applicable to direct, strictly variable labor.

· An increase in selling price of the product (or service).

4) Assume the linear relationships of the cost-volume profit model for a single-product firm and use the following answer key: 

(1) More than double

(2) Double

(3) Increase, but less than double

(4) Remain the same

(5) Decrease

a. If price is doubled, revenue will _____________________

b. If price is doubled, the total contribution margin will ____________________

c. If price is doubled, profit will _______________________

d. If contribution margin per unit is doubled, profit will _____________________
e. If fixed costs are doubled, total contribution margin will  _____________________

f. If fixed costs are doubled, profit will ________________

g. If fixed costs are doubled, the breakeven point of units sold will ___________________

h. If total sale units are doubled, profit will _______________

i. If total sales units are doubled, the breakeven point will 

________________________

j. If contribution margin per unit is doubled the breakeven 

point will ___________________

5) Analysis of operations of Homes Company shows the fixed costs to be $100,000 and variable costs to be $4 per unit. Selling price is $8 per unit.

A) Determine the breakeven point expressed in units.
B) How many units would have to be sold to earn a profit of 

      $140,000?

C) What would profits be if revenue from sales were   

       $1,000,000?


